MTHI132 - Examples

3.1 Problems

Extreme Values

Example 1. What are the two ways in which a function f(x) can have a critical value?
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Example 2. Find the critical numbers of the functions
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Example 3. Find the absolute maximum and absolute minimum values of f on the given interval

(a) f(z)=22%—32%— 122+ 1 on [-2,3]
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(b) f(z) = asinx on [0, 7] start by graphing x and sinx then skelch a graph of f(z)
(You won’t find the actual maximum for this problem, but you can show it exists!)
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(el fla)=2 —%—% on [0.2,4]
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(e) f(z)=av4—2a?on [-1,2]
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Example 4. Find the critical points and local minima/maxima of f on [—10, 10]
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